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2.1.2 RS¥EYZEMN

1. BB, 2. . BT

I 1 R u(x), v(X)E A XA A] 5, e
TR, 2. R W (A NEME S xAb
A, FH

(D) [u(x) £ v(x)] = u'(x) £ v'(x);

(2) [u(x) - v(x)] = u'(x)v(x) + u(x)r'(x);

(3) [u(x) , _w(x)p(x)—u(x)v(x) (v(x) % 0).

*

hx) v?(x)
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HE (1) . (2) Bg.
EG) # £0=" (x)=0),
v(x)

ooy — i J (XHH) = f(X)
S (x)=lim 2

u(x+h) u(x)
v(x+h) v(x)

u(x+ h)yv(x)—u(x)v(x+ h)
h—0 v(x+ h)v(x)h
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lu(x + h) — u(x)|v(x) — u(x)[v(x + h) —v(x)]

= lim

h—0 v(x+ h)v(x)h
u(x+h)—u(x) ()= u(x)- v(x+ h)—v(x)
= lim h h
h—>0 v(x+ h)v(x)

_ u' (x)v(x)—u(x)v'(x)

[v(x)]”
- ) s n] F H A AR

AT 4p 56 k¥ 2.1 S%(127)



" A0
e ,,
(1) [;L(x)1'=;ﬁ'(x);
) G = Cf'(x)
3) [1'[ 0T = £ £, £,(x)
e FOL L)
SN P CIA)

i=1 k=1
k#i
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10 K y=x’-2x*+sinx I FH .

Ry =(x")-(2x*) +(sinx) = 3x’—4x +cosx.
5111 K y=sin2x-Inx 5.

iR cy=2sinx-cosx:-Inx

y'=2cos x-cos x-Inx+2sinx-(—sinx)-Inx
o 1
+2sinx-cosx-—
X

= 2c082xlnx+1sin2x.

X
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12 Xk p=tanx 35K .

i y' =(tanx) = (Sin x),
COS X

_ (sin x)' cos x —sin x(cos x)’

cos’ x

cos’ x + sin® x 1 ,
= 5 =—— —=sec” X
COS” X COS” X

A (tanx) =sec” x.

AEAE  (cotx) =—csc’ x.
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13 kK y=secx 54K .
Ry =(secx) =( ! )

COS X
_ —(cosx) _ sinx

= = sec x tan x.

COS2 X COS X

AEA[E  (cscx) =—cscxcot x.
514 sk y=sinhx 535 .
1
i y' =(sinhx) = [% (e*—e™)] = > (e*+e " )=coshx.

1

cosh’ x

] 2 A ’/flﬁEL (cosh x)' =sinh x (tanh x)' =
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X, x<0
Ind+x), x>0’

15  # f(x) ={ K (x0).
i Y4x < Oif, f'(x)=1,
x> OFF,

S (x)=lim

In(l+x+h)—In(1+ x)
h

Climima+- "y = 1
h—0 h 1+x 1+x

Y x = Off,
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(0+ k) —In(1+0)

f_(0)=;}g(l)l— I =19
£7(0) = lim In[1+(0+ A)]-In(1+0) 1,
h—>0" h

= Fl(0)=1.

(1, x <0,
L f(x)=1 1

—y x>0
1+ x
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2. REHHIR SN

FERR2 ANREIEL x = () ERIXHL PV, Al
He'(p)#0, IREFIEE y= f()EXN X [H]
ISR, /T, BA

L1
S) o' (y)

B RERFHNSHFTEERBSFHER.
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iE EBxel,, 4xliigEAr (Ax#0,x+Axel)

Ay = fOBFRIMERR Ay 20,

Ay 1 |
FRE a0 Sk

Ay
LAY 0 (Ax—>0), XHEH@'(y)#0

Ay 1 1
= lim —
SIAY - amVAY  gl(y)

Ay
Bl f'(x)= ,1 :
o (y)
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16 K%L y =arcsin x )55,
T T

B EAx=sinyfEy (2, 0) WA, W,

H (siny) =cos y>0, ..{Exe(-LDNE
1 1 1 1

(arcsin x)'= — - = = — ]
(siny) cosy 1-sin’y 1-x?

| 1

EE R[5 (arccosx) =-— —
—X
(arctan x)’ ! (arccot x)’ 1
arctan x) = 5 arccot x) = — .
1+ x” 1+ x’
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B17  REE y=log, x I FHL.

B x=a'1Ey e (—oo,+0)NEHIf, 7T,

H @) =a’lna#0, . ffxe (0,+00)Ij\77ﬁ,

1 1 1

log x)' = = = :
(log, x) (@’) a’lnma xlna

AW ]

FAHE (Inx) = 1 :

X
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3. B E RBHIR RE N

EH3 ZRBu=pX)ER YT, m
y=f)EHu=0x) TS, NWEERHK
y=fleIfE R XS, HESEH

dy
dx

B, AT EXETEXRS, FTHETZEXTHIEE
B3RS, FELIRETEXBEERS (BEIEND) .

o = S () @'(x,).
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i Hy= f@TES TS, - gim Y = = f(u,)

Au—>0

A .
ﬁﬁA—i =f'(w)+a (lima= 0)

M Ay = f'(u,)Au + aAu

LY Au Au
--AI)ETOB— llm[f (uO)E-I_aB]

Au Au
=) fim, e fim i

= f'(u,)@'(x,).
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B B y=f), u=@), v=p(x),
MEEBH Y = floly (O} KFHH

dy dy du dv
dv du dv dx

518  RE%L y =Insin x 1T,

2 - y=Inu,u=sinx.
dy dy du 1 COS X
ST E e = . C0S X = =cotx
dx du dx u sin x
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" JE
B9 KK y=(x"+D" HIFHL.
iz % =10(x* +1)" - (x* + 1)’

=10(x* +1)° - 2x =20x(x*> +1)’.

2
5120 KFKEEL y= gJaz —x’+ %arcsinf 32 .
a

: >0
i y'=(;c¢a2 —xz)'+(azarcsin':)' (@>0)
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Bl21 K% y=In-, X’ +21 (x>2)H 4.
Y —

Roy= ;m(x2 +1)— ;ln(x— 2),

1 1 1 h's 1
e 2x - = -
2 x"+1 3(x-2) x"+1 3(x-2)

Bl22  SREK p=e * HSHL

LYy =

1
sim— 1 sin L 1 1
i y'=e x(mn;)':e ¥ 005 —- ()’
1

X X
1 sin— 1
——e *-.cos—.
X X
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4. YIZF R BHIR F
(1) ZEFYIEFRER S

(Cy =0 (x4 = ot
(sin x)’ = cos x (cos x)' =—sinx
(tan x)' — sec’ X (cotx) = —csc’ x
(secx) =secxtanx (cscx) =—cscxcotx
(a*) =a"Ina (e*) = ¢
1

- 1

(log, x) xIna (Inxy = x
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" JE
1

\/l—x2
1
1+ x

(arcsin x)' =

(arctan x)' = 5

(arccos x) =—

(arccotx) =—

1

1-x

1
1+ x?

(2) BREFIAM. 2. B 7
wu=u(x),y=v(x)a] 5, N

3R IEN

2

(D) (wxv)=u"2v, 2) (Co)'=Cu’ (CREE)

3 (wv) =u'v+uw', (4) (g),=u'v—uv'(v¢0).
\ 4
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&

) B R BIR SEN
y=f), Tiu=p(x), NEEEHK

y = flp(x0)] RIFEON:

dy dy du
dx du dx

28 y'(x)= f(u)-9'(x).

Al

1 BB A AR, VIS5 R EOR T A SE £

27

3

TR MIFRBHIISBAIIAVIFEREA.
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" JE
B123  SRIEE p=-x+Vx+x S
1
= Jx+xy
Wy 2Jx+¢x+&(x+ )

_ L g, !
2x+Vx+Jx 2Ux+x

1 1
— 1 1
2%x+¢x+&( +2Jx+\/}( ¥ f))

_ 4x? + xVx +2Vx+1
8Jx+¢x+&-¢x2+x&.
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"
Bi24  KREH y= f"lo"(sinx")] K1 .
By =nf""[p"Ginx")]- f'[¢" (sinx")]
.n@" " (sin x")- @'(sin x")- cos x" - nx"™"
=n’-x""cosx" - " [@"(sinx")]

@" ' (sinx")- f'|@" (sin x")]- @'(sin x").
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(sinh x)" = cosh x

(cosh x)’ =sinh x

sinh x
s tanh x =
cosh x
. cosh” x—sinh” x 1
~.(tanh x)' = . = — =sech’x
cosh” x cosh” x

Bl (tanh x)'=sech’x.

L (cothx) =—csch’x.
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arcsinh x = In(x + Vx> +1)

(x++Vx*+1)
x++x’+1

(arcsinh x)' =

1 X 1
= 1+ ) =
x+Vxr+1 Vxi+1 Jvxi+1
1

HH (arccoshx) =
5 Jxl-1

1
1—-x
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5125 KX y = arctan(tanh x) 754X
1

oY= 1+ tanh” x ‘(tanh x)
1 1 1 1
B 1+ tanh® x | cosh” x B 1+ sinh” x | cosh” x
cosh” x
1 1

cosh? x+sinh’x 1+ 2sinh’ x
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2.1.5 NEE5BER

REEBHIRFEN GERBALEL |

REREHRFEN (EERHESTE,

E BRI IEE

AEART ] 5 BR B T B0AT T 3%
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=1

RiE: ERADBYISFRBHIRGEH.

ER: [u(x)-v(x)] # u'(x)+v'(x);

[u(x) :

I' u'(x)

v(x)  v'(x)
SERBCR SR, SR SSBHELSHOR.

VERS: WIERBE R R XX 6] A R EE S
n: B y=VxE x=0 ERFTE.
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3 e
1. SREIZR y=2x— x L5 X PTRITIZ
HiE.

2y & () Eu SRR, u=g(x)EX, ]3>

Hu, =g(x,), W flg(x)|FEx, i ( ) .
(1) BAafs; @) AAE; 3) AHE.
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BEmRE
1. y'=2-3x" %)y'=0 = 2-3x*=0
o2 2
V3 > \3
(35 3
379 3 9
4I 4/6
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2. IEHHEFER (3)
B f(u)=|u| £ u= 041 T,

Bu=g(x)=sinx £ x = 047 F,
flg(x)]=|sinx| £ x = 0T F, (1) x
B ou=g(x)=x" 7 x = 07T,

flg(x)]= x* |= x" 7 x = 0T 7, (2) X
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RES &
TN iﬁ%@:
1. )&y=\/;'5inx, )r\lljy’z
. 2 dy
= 3a” x _“~ m = —
2. BWy=3a‘+e o )‘de

dy
3. i&y=ex(x2—3x+1),)l'\llja =
x=0

4, ¥ y=2tanx+secx+10 U '=

2

2 X
B w‘&y=f(x)=1_x+ i I £(0)=

- H] HY

6. Hﬂéa%y=g+sinx7é‘t x =0k B LR G b T
e 4K
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= WETFISREH I

10" -1 1—/x
1\ = s 2\ —
Y107 41 S (x) 1+J/x

3. y= (a)x(b)a(x) (a>0,b>0).
b X a

, R F'(4);

=, By = x5 x AR,
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sin x 2
—. 1. ~x( +cosx); 2. 3a*lna+e’ +—;
2x X

3+ —2; 4. secx(2secx+tanx); 5. 2; 6.

10" - In100
:\ 1\ n M 2\ 1,

10° +1)* ° 18

b
3 ()()()(ln"—“

).

J

X

=, 2x—yx4=0,

A )
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REL -

—. HZE:
1. ®y=QCx+1)"  Juy'=

2, @y=cos’x  Jijy'=

3. ¥ y=arccotx’ i 3=

4, ¥ y=Insinx n y'=

5. _&y — 10xtan2x, )ﬂ“y':

6. BA(OTF, Hr=x(), M-

7. | f(x)=e"", N f'(x)=
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. RTHREHFH:
1. y=In(x+vx*—a’), 2. y=In(secx+tanx),

. arccos x
3\ y=eal‘CSln\/;; 4:\ y= . H
arcsin x
. 1+ x
5., y=arcsin,|— .
1—-x

-

|
x“sin—,x#0

= B ()= x , 19 R AT A KA
0, x=0

FOOEXx=04 (1) FL? () TFF? (3) BFRHELL?
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. 1‘ 8(2x+1)3; 2\ —SiDZX; 3\ - 2x4;
1+ x
4. cotx, 5. 10*“"** In10(tan2x + 2xsec’ 2x);

6+ f(x2)+2x2f’(x2); T~ etankx . ktank_l X Sec2 X -

. 1 earcsin\/;
— 1\ xz_az H 2\ Secx; 3\ zm;
_ T 1
4, 24/1- x* (arcsin x)* ° 2 (1-x)/-2x(1+x)
=. (1) k>0, (2) k>1; (3) k>2.
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3~ “&y= et ’ )I_\"Jy’z H
4, # f(0)=x(x—-1)(x-2)---(x—2008), [ £'(0)=

Z RTFIIREH
1. y=tanh(1—x2); 2 y=al'COSh(x2_1);

3~ y= ar sinh (ezx) ; 4. y= sinh xecoshx

°
9

1
—cos? —

X
5. p= (arctanE)Z; 6. y=e .
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REGIFEER

x—n(x—-1)In(x-1) .

h) 1\

(x_l)xn+1
3\ — 1 ’
sinh? ¢
— -2x
—> Y cosh’(1-x%)°
2e2x
3~ P
e +1
X
D - arctan—_;
4+ x 2

ARFhrze kF

) 4/x +1
Vg x2x+x

4, 2008!.

2x
2 x|xo2

4., €*"*(coshx+sinh”x),
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